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Question: Choose the most appropriate answer

Demographic Dividend is associated with

a) The number of productive population

b) The ratio of number of females per 1000 males.

c) The ratio of the working age to non-working age group of population
d) Benefits of population density

Land Ceiling act enables

a) Reduce concentration of ownership of land holding
b) Increase in Size of holding

c) Land to owner

d) Economic size of land holding

Urbanization brings about

a) Environmental effects
b) Overcrowding

c) Social Integration

d) All the above:

Correct Information to farmer’s queries are provided by

a) Information kiosks.

b) Single window information

c) Kisan call centers

d) Agriculture Technology management system

National Population Policy was announced in the year

a) 2000.
b) 2002
c) 2004
d) 2006



Consolidation of land holdings enables

a) Increase in Size of holding
b) Minimize wastage of land

c) Mechanization of agriculture
d) All the above

NAP encourages

a) Global participation in agriculture

b) Private participation in agriculture

c) Governmental participation in agriculture
d) None of the above

Agriculture Price policy protect the interest of

a) Small & Marginal farmers
b) Consumers and Farmers
c) Large farmers

d) All type farmers

Kisan Credit Card was introduced by

a) RRB’s

b) RBI

c) SBI

d) NABARD

APMC stands for :

a) Agricultural Produce Market Commission

b) Agricultural Produce Market Committee
c) Agricultural Produce Management Committee
d) None of the above

Globalization implies

a) Abolition of Industrial Licensing

b) Disinvestment of PSU’s

c) Integrating Indian economy with rest of the world
d) None of the above



Disinvestment implies:

a) Privatization

b) Reducing the role of government

c) Process of reducing the share of Government in PSU’s
d) None of the above

Competition act was introduced on the recommendation of

a) Ragavan committee
b) Swaminathan committee
c) Krishnamajari committee
d) Malhotra committee

Green-field investment refers to

a) Establishing new Investments in the host country.

b) Acquiring a existing Investment in the host country

c) Merging with an existing investment in the host country
d) None of the above

under ------------ the foreign investors will be given same rights as the nationals

a) TRIPS
b) TRIMS
c) AOA

d) GATS

Most Favored nation Principles of WTO implies ------------------

a) Discrimination between trading partners
b) Special treatment for friendly members
c) Discrimination among member nations

d) None of the above

GATS stands for

a) General agreement on Tariff and services
b) General agreement on Trade in services
c) General agreement on Trade in stocks

d) None of the above



WTO was established by accepting proposals given by

a) Adam smith
b) Arthur Dunkel
c) Edgworth

d) All the above

TRIPS aim at

a) Promoting FDI

b) Discouraging FDI

c) Treating Foreign investments in Par with domestic investment
d) None of the above.

A decrease in CRR leaves the banks with

a) More cash money

b) Less cash money

c) More government securities
d) None of the above

Which of the following measures absorb liquidity from the financial system?

a) Repo

b) Reverse repo

c) Buying of securities under OMO
d) None of the above

Monetary Policy in India is announced by

a) RBI Governor

b) Board of Directors of RBI

c) Finance Minister

d) Monetary Policy Committee

Indian capital market is regulated by

a) RBI
b) SEBI
c) SEBI
d) NABARD



Monetary policy influences

a) Rate of interest

b) Cost of credit

c) Circulation of money in the economy
d) All the above

Selective credit control method include

a) Margin requirements
b) Bank rate

c) Moral suasion

d) All the above

Reform measures in Indian Money market include

a) Deregulation of Interest Rates
b) Regulation of NBFCs

c) Introduction of Repo

d) All the above



